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QUESTION NO: 1

Your customer wants to demonstrate data privacy compliance by monitoring as many platforms as possible across on-
premises and the public cloud with NetApp Cloud Data

Sense (formerly Cloud Compliance).

In this scenario, which two data sources are supported? (Choose two.)

A. Microsoft Exchange 

B. Oracle Database 

C. Amazon S3 

D. DB2 

ANSWER: A B 

QUESTION NO: 2

You are asked to deploy NetApp Cloud Volumes ONTAP In AWS by using automation tools to help streamline scale and 
maintain updates.

Which two tools would you use to complete this task? (Choose two.)

A. Vagrant 

B. Helm 

C. Terraform 

D. Ansible 

ANSWER: C D 

QUESTION NO: 3

Exhibit.
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Referring to the exhibit, a volume in the Value storage service level is storing 10 TB of data.

What is the maximum number of IOPS that the volume would receive?

A. 1280 

B. 5120 

C. 128 

D. 512 

ANSWER: A 

QUESTION NO: 4

A customer is using AWS for their production environment. One of their applications uploads data into an AWS S3 bucket 
and the customer wants to duplicate this data into

NetApp Cloud Volumes ONTAP.

In this scenario, how would the customer copy their data from AWS S3 to Cloud Volumes

ONTAP?

A. Use Cloud Backup service. 

B. Use SaaS Backup. 

C. Use Cloud Tiering. 

D. Use Cloud Sync service. 

ANSWER: B 
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QUESTION NO: 5

Your company has just merged with another organization. You are responsible for connecting both companies by designing 
a new multi-region cloud service in Microsoft Azure. Both company's Azure subscriptions and tenants have been merged 
already. You want to enable cross-region connectivity between the new services and endpoints.

In this scenario, which service do you consider?

A. ExpressRoute 

B. VNet Peering 

C. Service endpoints 

D. Site-to-Site VPN 

ANSWER: A 

QUESTION NO: 6

You must back up data with an option to restore a file to the same or a different location.

In this scenario, which storage type would be used as part of the NetApp Cloud Backup service?

A. in-memory 

B. file storage 

C. object storage 

D. block storage 

ANSWER: C 

QUESTION NO: 7

You re-engineer your on-premises Infrastructure and migrating workloads to the cloud. You are asked to consider a hybrid 
cloud deployment.

Which two scenarios would highlight that a hybrid cloud deployment would be more appropriate for the workload in this 
situation? (Choose two.)

A. when used to provide a guaranteed low latency solution for your analytics workloads B. when specific data in your 
solution is not permitted to be moved to the cloud due to regulations or policies 

B. when used to reduce management between your on-premises data center and remote locations by hosting part of your 
architecture in the cloud 
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C. when used as a transition platform during a longer-term migration to a fully cloud-native solution 

ANSWER: B C 

QUESTION NO: 8

Your customer wants to move from hosting all workloads in a public cloud to infrastructureas-a-service (IaaS) on-premises.

In this scenario, which two benefits would you present to the customer? (Choose two.)

A. scalability 

B. data sovereignty 

C. agility 

D. data security 

ANSWER: A B 

QUESTION NO: 9

A customer has an on-premises data center with NetApp ONTAP storage. They have a Snapshot policy set up for their 
volumes to create periodic Snapshot copies so that they can recover from those in case they lose their data. However, their 
IT architect wants to implement a solution that will enable them to restore volumes or individual files to their storage on-
premises or in the cloud.

In this scenario, which NetApp cloud service should be used to satisfy the requirement?

A. Cloud Backup service 

B. Cloud Sync service 

C. SaaS Backup 

D. Cloud Volumes Service 

ANSWER: B 

QUESTION NO: 10
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You are using Windows Virtual Desktops and storing user profiles on Azure NetApp Files by using the Premium storage 
service level. There will be 1000 contractors coming onboard for a short duration to assist with project work, and each one of 
them requires virtual desktop access.

In this scenario, which three actions address the short term performance demand without affecting the latency of existing 
users? (Choose three.)

A. Use FlexCache. 

B. Increase the volume quota on Azure NetApp Files. 

C. Change the Azure NetApp Files service level to Ultra Storage. 

D. Increase the capacity pool on Azure NetApp Files. 

E. Enable encryption on Azure NetApp Files. 

ANSWER: B C D 

https://dumpsqueen.com/

